TREE {FE5ERSHRIAM No. 1
mRE

No m A B K A—h—  |REH SR 5 & ®RE

1 & 2R x3R 4 4 RKE—ILEER
[ 2| 2R x 4R 3 | 3 KAh—ILES
B 2R x6R 10 10 RKE—ILEER
[ 4] BRx4R 3 3 RKE—ILEER
[ 5 | 3R x6R 3 | 34 | sesEamrEs | xt—rgs
[ 6 | 4R x6R 10 | 10 KAh—ILES
[ 7] 4R x8R 5 | 5 wAD
[ 5 | 6R X 6R 7 | 7 KAh—ILES

9 ERTE 2R 4 4 RKE—ILEER
10| 3R 4 | 4 KAh—ILES
[11] 4R 2 | 2 Kk—ILES
[12] 6R 2 | 2 KAh—ILES
13 ] ESE LN ED 6 6 RKE—ILEER

14 MTiE 1 1 RKE—ILEER
[ 15 3R x12R 25 | 25 KAh—ILES
[ 16 3R xR 4 | 4 KAh—ILES

17 A& Ah/— 2 2 KE—ILER

18 RIATATE 3R xBR 2 2 £4 KE—ILESR
i 4R x6R 2 | 2 EN=] Kh—ILEA
[ 20| 6R X 6R 2 | 2 BN Kh—ILEA
[ 21] 3Rx12R 2 | 2 FiEa A Kh—ILES

22 A5 3t 30 30 RKE—ILEER
[ 23] 614 65 | 65 KAh—ILES

24 HEZE hE2RY 17 17 RKE—ILEER
[ 25 th 23R 17 | 17 KAh—ILES
26 FRARY 17 16 RKE—ILEER
[27] thE26R#Y 10 | 10 KAh—ILES
[ 28| ER2RM 17 | 17 KAh—ILES
[ 29 EE3RY 17 | 17 KAh—ILES
30| ERARY 17 | 17 KAh—ILES
31 EE6RY 10 | 10 KAh—ILES

32 EER 1 1 ANR—E RKE—ILEER

33 By 1 1 ANR—E RKE—ILEER

34 Ea 1 1 ANR—E RKE—ILEER

35 HYE 1TRx5R 1 1 RKE—ILEER

36 *FRE 1 1 2 1vk RKE—ILEER
37 ZR 5 5 EFoOoor
38 EfmE 1[4 10 10 1FERE
39 2f84 6 6 1FERE

MREE F5ERSHRIAN No. 2

1 E7/ CF-3 YAMAHA 1 1 | &A4RT3 83— E7/E

2 N1 1 1 FEET7TE

3 IER 1 1 281tvk Rb— LR

4 BEES 1 1 RKE—ILEER




5 EES fEEER 1 1 KE—ILESR
[ 6 | REEA 60 | 60 KB

7 HhH R 3 x 10/ 2 2 1FRE
B 4R x 1008 HEE FRE
B 5 x 1008 HEE FRE

10 ety 18 % 2R 11 11 1FEE
[11] 278 x 774 1 1 1FEE
[12] 4R x 8 HEE FRE

13 TatEyk 1 1 1FEE

14 SE = ek 1 1 1FEE

15 EARRIE| 7R 1 1 18/
16 ARé3L 4R# 10 10 KE—ILESR
[17] 6R# 10 10 KE—ILESR
18 S 3 3 KE—ILESR
19 EELT 80 80 KE—ILESR
20 FhT 3 3 KE—ILESR
21 AVRSIRRAR 7 7 | AVFSARASAR mTFEE
22 IMTAR 80 74 PYn—HILE
23 T—I 10 10 PYn—HILE
24 KSATARRIY 2 2 mAD

25 a3z 7t x3R2 2 2 KE—ILESR
[ 26| 7 x4R 10 | 10 Kh—ILEA
[ 27] 7 x 1R 10 | 10 Kh—ILEA
[ 2] 7~ x 2f 12 12 KE—ILESR
[ 20] 1R x3R 2 | 2 Kh—ILES
[ 30] 1R x4R 4 | 4 Kh—ILES
31 ] TR x 1/ 7 | 7 Kh—ILES
[ 3] 1R x 2/ 5 | 5 Kh—ILES
[ 33] 2R1x3R2 2 2 KE—ILESR
[ 34] 2Rx4R 4 | 4 Kh—ILES
35| 2R x 1R 7 | 7 Kh—ILES
36| 1R2% x 2/ 5 | 5 Kh—ILES
[37] 2R8x3R2 2 2 KE—ILESR
3] 2R8+ x 1/ 8 | s Kh—ILES
[ 30] 2R 8 x 2/ 4 | 4 Kh—ILES
[ 40| TRA4~F x 17 10 | 10 Fh—ILEE
41 LS 9m 1 1 TITRSAHE— KE—ILESR
[ 4] 10m 1 1 FREREEA KE—ILESR
43 FRE 1 1 KE—ILESR
44 BER 3m 1 1 KE—ILESR
45 BERFZLO—F 30m 2 2 T

£t FEFmEBRYRL

No L B K A—h—  |REH AR % = RE

1 E7/ TuTSAk ZaryTY 1 1 EREES

2 e 1 1 AN—1FE EREES

3 Es 1 1 AN—1FE EREES




